’/' N
N

(D/"\F mx+b  (or y=lo+rmx) slope wtesrcept focm
@ b=20 m= B, o5/mincte.

N=.09%+20 or ece.owoleﬂﬂxl \ =20 +.05X
® b-an y= s.q/mik

N=.A%424D  or equwalently y= 34d.9¥

® b=6Looo N= ®-3000/year

€y N Yi=MO-%)  pownt sbo pe_ form

@ (Xiy¥= (3,109 (3 books, t”\>\<))

N = = ahange w cost _+F2 -
_5\'? cVo.mgcm # of books 1'\ book so m

N~ o= 0%~ -3)  simphfreso Ve H+2Lx

@ (_Y«\)\h\ (.\lD 100) (10 cupeakes, ‘&1003

M= N . changein cost _+%q _q
DX Changen # of copeakes “thLavpeoked V>

@ (\(\5\'\\’(\6‘100\ Lq’\‘a‘lOO'GU.NQS)

bX Change wn pIice + 85
200 = -1 %15y  swmplitfhies to Y= 330 -12X
b P Y

@ (xb\p.‘)“ (s030) (50°F,30 gallens)

_j_ ahangew guankily of wowan . +lgallor
Q,\/\awgam femp enaturne +2°F

- 35 < ,5(X-50) sumplifies to Y= 5+.5X

\’ = "SOOO)H- OO0 ovr eq.uxualem"(j \/ = (p(0OO0 ~3000X

=2

so M= .15

N-200= .15(x-120) sumplhifiesto =110 +715X

M= = th%_gvxﬁogﬁmwcsz—onnNa:-@g o m=—2

so M= 05
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aontnued \{—\t\- MX=-X)  pownt s\O\:e,QorM

@ (k0= (a4y1000)  (Bay 1woo Aodks)
M= DYy - Grongewn B ot docks | +45 cdlodks o = -4y
NS Changein pnce, ~%| prce

N ~ 1000 = ~45(X-2Y) suwplfies to Y= 2030 ~45X

@ M= (Y- \lB {o find slope

Cra=Xr)
Y=Y\ = mOx-%) pownt s\opcgom
@ Cxiy40d= (16, 350) or % bracelety | ®Y ozt
o,y ) = (H0,350) © \32%
M= Ya-Yi - (Q50-359) _ oo
¥a~Xi (Mo -10) 30 20

\-350=30(x-16) swmplifesto y = 150 +a0X

®© CXiyy) = Clooo, 20000) or X tee souts| $y cost

(X2, Y2 = (3000, 50000) jooo | a0©00

Ya-X1( (3o00 -loco) 2000

= (5

N - 20000 = (5%~ \0065 Swv\phﬁcs{n \[ = 5000+ 15X

@ xiy0= (5, 50000) or ¥ years | ®Y valve,
_C%q 1) = (3,35000) 5 50000
m= Va2 | 25000-50000 8 5000

Y- %y ?-5
so M= —15000 _ -5000 <-.s\c>pe_’rel\s vs e valve is
3 decreasing af Yo rate of

swmpifiesto \=T15000-5000 X




Coot, Revenoe, Profit

@ @ Y= CLX) = 300-#5)( cost fonchon
@ QUOOB" 300""5(100\ = $(OOO QOS*' +C) moke, (Do-pl%%G.S

| Ton\{ n.uds{-b aharge BOO . PO per 'p(%%.CL
6O P20 PIZ2GS

n ovder +o ‘oreokeum ; ov over 810 per prato Hakaapmﬁi‘f

@ CON = %CJO +H% opost fuonchon

R\ = V9% revenve fonchon as revenves(p nc&)(c%uamh{\h
Proft: POY=ROY- A= 15X - (R00+5K) = |OX-30q

 To break euen Rewenve = Cost

Rxy = QW)
1B = BOO+BX
{OX = 200

X= 30 pirasd
@ ¢ prce= 815 and X=20 prz2as
Renenve = R(20) = (I5X20) = 300
Cost =  QLOY= B0O+500) = HOOo {$(OO
P(ao) = R(20) ~C(20 = 300 ~400 = —Bl00 | Loss

@ & prce = Bl and X=50 p122AS
Revenoe. = R(30)= 15(50)= 150

Cost = C50) = 300 + 5(s0) = 530 2,60
P(50) = R(30)-CL50) = T30 - 5860 = 200 1 IROFIT

|
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é&sﬂ Revenoe, Profit

® @ find cost foncton or X phone coses | ®Y aost
(XN = (100, 2000) oo 2000
Q(x, \fL\ = <5°°) 5000) 560 5000

M= Ya-Yi - (5000-2000) . 3000 _ .50

Yo~ X1 (506~ 160) 400
Y- 2000 =150 (X-100)
Cost fuonchon stmp\natad 18t \= CLx= 1250 +7.50X

® revence fonchon = (pnce,)(q,oam’nb
y= RO = 1o%

proft = revence -cost

P = ROV =) = (OX - (1256 +1.50%)
PCY= AZOX- 1350  when swplified

@ Rreak-Suen Prohit =0 ) Qe_venue,=QQs+

ROy =CQlx) \]4 :M;La
lOX= 1230+ 180X [rBeee )
%= 500 call phanell TF /i
cases | Aok /

C(300)= 2.50+71.50(500) oo
A(300) = ¥5000 (I AL
R(3060) = 16(500) Yeroa————/f—
R(s6eo0) = #5000

F000  /
@ Graph > leoeo -
RUY) passes throodn (0,0) p 4 Yg
(500 5000) terop- s
\ NP
QLX) passcs‘('aroos(n (6,1250) —4- e
(5003 .5000) i 160 200.~dbo 500 00

(o)
1 | % phonpcas

Px) Pa%ﬁs‘(ﬁmo h (0,-159 o0 es
~ (500, 0)

Q
e}
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Cost, Revenove,, Prefit

Q apst foncto
Wu\{d-(!'o—ﬂ“‘aso) oR XK brocelets [N ¥ cost

(Kay ¥ = (H40)950) ’fl’o ?558

M =Qa- 7) Q56350 . OO . 30
C‘L:.—X\B A40-10 20

N-250 = 30(x-10) 50 Y= CLK) = IS0+I0X  Cost foncho
revence_fonchon = (prce) (quoniy)
N = R(x) = X180 % revenove fondnon

Rreok Sven when revenve = cost \{-&_ﬂ prekit = O
RCX) = CLx)
250K = |50 +20X
15X =180

X =20 broceleis
(Ohen 20 bracelets are producd and sold,

R(20)= 31.50(20y= 550 revenves
G (30) = 150t20(2)= 8550 aost
P (oY= R(ad)-A(a0) = F0 profit




(ost, Revenve, Profit

D@ Cost Fonchon: y=009=4000 +1x
" Revenve Fonchont Y= RGA= R
Profak Fenchon : q- P = R -a)

= PR = 13X - (4000 +T1%)
\( PQC\ 5% - 4000

© When x=600 showen heads:

ot QLOO)= LO0o +T1(LO0) = 3300
revenve. R(LOOY = 12 Loo)= #1200

DQbOO} R(600) -clod) = 73006-8200 = — $(000
| Booo loss
@ whan X= 1200 shower heads

Cost  Cre0)= KO0O +1U200)= BIHOO
resenve. R(NOA)= 13 (o) =FIyyoo

PLaoo) = RUr00)-C(1200) = (4466- 1400 = #1000

#1000 protat
(@ Breokeven: Revence =Cost whan profit=0
REx\ = QLX)
XK= HOOO +1¥%
5% = Hooo

X= 300 dhower heads

M-x=%00 : (360 = 4000 +1(zoC0) = $F0O0
R(800) = 12(8oc0) = $Qbos
so profit = 30
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Supply and Demiand

@ SOpp\\r Fonchaon
(g Y= (15 128)
Chay 42y = (D.QJD.\LO)
M= Ya-Yi . U6-125 _ q(
Y- X 22.-19 I
Y- = (3(X-5)
swmplifies Yo
N=SCK) = —10+13X

=13

hen price= $18

bUs) = 3%0-0) =

@ 1§ price X= Bl

() = 10 +13Ub) ~ 12 fromes
D) = 330- U@ 133 Hrawmes
Demand excaeds sopply

Supply s less

506 moveframes acod e
s0\A. tRon are. pmduco.d

(€ =31 pree
S} = <10 +Bu) =203 @ro.me.s

DO = 330 - 12 (M) = N Lroumes
Suvpply exceeds demand

203-1D% =15 move frames
are_made Han cn besold

Demand Fondhon
C»c. 344 = (15,200)

|

m= DY - Afowmes

b Npncs =

Y- 200 = ~13.(%~5)
smplifies to

y= D)= 330-12%

@ A eqolorion: Sopply = Demand
Sx) = DX
—O+ 13X = BBO LK
25% = 450
= ¥(3 eq,o\\tbnoM pce

SO = ~10+BULY = (LY Lrames

g

- (0710), ((15,125) (12,6

' Plot powts to 8mp\n,‘\'"&’m

by Frames
Yiframes
@ L’oaso 'DeN\a-rsa' )’le) =
‘ - .
N, : \ |
300 “ ‘\\ B S(.)(
? ~ Pl
oo )
TN I ;
100 \
//{ N
0. .
‘ //5* ! 13 | 20 |as
~0
=00 b
Demand D03 passesthrough
( (0,3%0) , (I5,200) (\%_,l(o‘-()
Sopply S(¥) passes though
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